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'SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.

Define costing.

' DIl dsall i eueruimy.

What is Profit Centre?

@i enlowith GTEITMITE) GTEITEYT ?

State the meaning of job costing.

uenfl @ sselwed Greirrl_lg,éb‘r Qun@m‘/ahgua;.v

What is the need of CRS? -

.)C.RS & Gaemeu wimg? .

Expand the terms ABC and JIT. ‘

ABC wpmiid JIT ey flweupenm e faurssid Qeiis..

Mention any two benefits of FIFO method. o

FIFO @epuien peneivsar q@g@n;b @Ucﬁm@mmé; G NILIOER
What do you meén by i_nc-e,/ntives? h
2aiges Ugmas aaugean e arg QU wg ?
Give the ineaning of sépa‘r‘ati‘on 1neth6d.

ﬁ]rﬂgg,su WD CTETLIGE Qurr@m g,@a;

How do you calculate piece Wages” :

2@ @mellamar Befli ereuaummy’ sarsdHeuriin
Define Overhead.

CupEeme)sdr euangum. -

What is machine hour rate?

Qupdly wenfl Gy g erammmed TG ?

What is over absorption of overhead? - o ,

/

Sidlanrs miliLy Gleditin L Gmmﬂ&suma;crr CTEITDITE)’ GT6HTET ?
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SECTION B — (5 x 5 = 25 marks) ;
Answer any FIVE questions.

Explain the scope of cost accounting.

C DL&& SaTsE Wedlen 6T6ben e udlen et cAleTé &,

Ascertain the cost and.selling price from the following :
Materials consumed Rs. 20,000

Wages paid Rs. 30,000

Works an ;:os't at 50% of wages

Office on cost at 20% of works cost

Selling on cost at 10% of works cost

Profit at 20% on cost.
GereupauaneupBlelmog  DiLssd  womd  eAbumer  ef@aauw
SHTEH0TS; :

rcF)JSSUl;II_II'_I_.QI_Irr@,I'_SSGiT em. 20;000

deisdu anel ¢m. 30,000

Cauanay Bsman SiL&s Q&@)Gﬁ gedl Bg 50%

agumc;uas WBgrear - Qeey Lianll L&asd e Lﬁgﬂ 20%
alpuenar Cewey SLESD Ll oL sssder 8g 10%

Qerub Lsssder Bg 20%. |

From the following informati-on, prepare cost sheet of Job No. 56
Direct materials Rs. 24,000

~Materials received from stores Rs. 1,68,000

Direct wages Rs. 96,000

Other direct expenses Rs. 10,000
Production overhead are taken at 100% of wages
Administration overhead at 20% of the production cost

The contract price is fixed at Rs. 5,50,000

Bemauapid gseidsalall(phbg Ll oar. 56 &MU <iL&5 sreflaan
swirt Gles '

Gy apa@urmersar en. 24,000
sl mpg Quprilt L. Qummerser ep. 1,68,000
Crrgd @nell ep. 96,000 .
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Comeuggionp Qseeysar Gataumb s569ds  @igCum @e
AN A ES

2 Hugd glevmaer Cagenous gianmaer

Ceaneusgienn A B o % 7
R 25 20 30 = 25 |
7 15 30 25 | 30 - |

Quenr() Geeeus gionp Gesweaysmar 2 HUSH giDsEREE & HIOU
Slpbu  wflipgeiiiny  wpep¥ed  Qesweysemer  udlibgeded

pepulemen sr (i bsmstiomer swurr Qens.

From the following data prepare a statement showing the cost

per man day of eight hours :

(a) Basic salary and DA Rs. 300 per month

(b)  Leave salary to the workman 6% of basic and DA

(©0  Employer’s contribution to PF 6% of (a) plus (b)

(d) ‘Employee’s contribution to PF 6% of (a) plus (b)

(e) Pro-rata expenditure on amenities to labour Rs. 25 per

y head per month

(f)  Number of working hours in a month 200.

deraumid gresefllamis walls prer 2iLbesdaman  &mawmis @0

ifis@suiener swni Qs prdr et 8 el Coyh ererd

Gl g mema. :

(S31) SlglienL. FhLGTLD HMILD LI@h&F LG (DTGLD GREITMI& & ¢h. 300

(<) verfluiranmse =My QEUY sbuemd gl FibueTb

~ DHDIb LEREFLIGUSd 6% : :

(@) Gowpe [AEEES L:mﬂq.;aﬂuueurﬂeh LIbiE Siefliy (<) LD[_I")Q]L'D
(=1) & — 6%

() Cewpe Bd&@  uaflumerfer ur_r;Jas'Qﬂqu (=), wHmiILd
(<) & ~ 6%

(2.) Gg,rrg@eurrerrr‘ras@é;asrrm - eugsla@néanan aﬁ]éilsrramjé Qseey
O GEMIGE 5. 25 ' :

A
(2am) wggHperar Gouanaw Grrb 200 wenfll Cpiyid.
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GSMDHS MBS — BIET QETMIEE 240 B EHHET
2 FFLILE [ISTE| — BIET QETMISE, 420 BGHE6T
ETSTIENT, BI&T6Y — BTET RETMI&EE 300 60(&HS6T
DM HEMET BiaTey — 3600 AHDGSET |
LDQJ %Gmam ST — 10 — 15 BIL_&GeT

FMSMTTET OO HHENERTE SHMLD — 12 BTL&aT.

A’ manufacturing company has three production departments

and two service departments. The departmental expenses were
as follows :

Production department expenses :
Department A — Rs. 10,000

Department B — Rs. 8,000

Department C — Rs. 12,000

Seryiée’ department expenses :
Department X — Rs. 2,000

Department Z — Rs. 3,000 '

The service department expenses are charged on the following
percentage basis ; ; : .

Production department Service
Service Departments

department A

B

C

X

Z

X

25

20

30

25

Z

15

30

25

30

Prepare a statement showing the apportionment of the overhead
of the two service departments to the production departments
under repeated distribution method.

g 2pusd AowsHo apep epusd ZwpsEsDd LHLD GreTH
Comeus genmsEHD 2 dreng).

geoparfiurar  Qeweyser Gemaumpomm 2 pusd  gepuler
e : \

gam A — em. 10,000
gleop B — em. 8,000

gianp C - . 12,000
Csaneud gianp QFee s :
gleop X — ¢m. 2,000
geomp Y — em. 3,000
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@sr Crrgsd Qeweyser ep. 10,000

2 pusdl  Guplsaweyser  amalulen  Bg 100%  er(hsaz6
QarareriLihpg) '

Blireurs Gupsweyser 2 husd <o sssdear Bg 20%

. @uubBs ellene eh. 5,50,000 eram Hlirarrulssiur Hiderg.

Find EOQ from the following data

Annual consumption Rs. 2,00,000

Cost per unit of raw materials Rs. 10

‘Carrying cost 10% of average inventory
Ordering cost Rs. 40.

Weraumd grejsaiia@hg EOQ samsd@s
%&T(H mIsre| h. 2,00,000

epLIQUITBL Safler @ Qaiblem <i_&sib fh. 10
gHmEbleed) siLssn syrafl sysdmuie 10%
%Gmsz;zrruﬂl@ SL&SD (. 40.

From the following transactions, prepare stores ledger account
using FIFO method :

| June 1 Opening balance 100 units at Rs. 50 each

2 Received 500 units at Rs. 60 each
5 Issued 300 units

0o Issued 200 units

"10 Received 500 units at Rs. 50 each

15 Issued 300 units

20 Issued 250 units

Wereupd  pLeugsamssaiadimis FIFO woplamer uvwuaL@ss
g GuCIL( sarsfenean swnt Qelis :

g 1— Qsriés sy&d(mHLiy 100 S@@&S6T oh. 50 e
2 - Guppgl 500 Sja@ser .. 60 aigbd
5 - iefliny 300 sj@@ser
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19.

20.

T— <efliy 200 e @ser
10 - Quppg 500 @ @sar p. 50 aisib
15 — el 300 S G
20 — ey 250 i@

From the following data, calculate the earnings per-hour under
the Halsey plan

‘Time allowed for job — 5 hours

Time taken — 4 hours

Rate per hour Rs. 8

Memeumid  srasefed phs) ‘) gamssTer L Hgsme anrdGs
AL gdleriig samsad s :

si@dsstiul. Gy ~ 5 wefl Crb

T hsgs Caram. Grrb - 4 wanfl Gy

werfll @enmissrar iz e, 8.

Explain the functional wise classifications of overhead expenses.

GupGlewaisamer GaudLTHEE gLl L auesliUbhSsame
allarmé 5. : \

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

§

Explain the various advantages of cost accounting. .
AL&6 samsflwear UDGeum petawamer oflerd@s.

Prepare a cost sheet showing cost of productibn and profit from
the following data :

" Rs. Rs.
Stock of raw materials . 75,000 78,750
Work in progress - 24,600 27,300
Stock of finished goods 52,080 47,250
Rs.
Purchases for the year 65,700
Sales 2,16,930
Direct wages 51,450 i
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Works expenses 25,020

Office expenses 20,610
Selling and distribution expenses 12,630
Scrap sold 990

Weraund  sreysailedlmbs 2 pusd SLssb wHnb erusHmen
SMTASEGD | _sad srefeen gt Qe :

- R
eLp@LIGLIm(BeT @) (LIl 75,000 78,750
Wiy aor Ceuame , 24,600 27,300
$y4e] dupm:sré@setier @ Ly 52,080 47,250
€.

DT 617 ClHMTET(LPS 6D 65,700
aNHuenes 2,16,930
Cririgs sned 51,450
uenfl§ Geewelsar 25,020
QIUDEF QFesaT ~ 20,610
eflpuener wHmibd LifToreréd Qeweyser 12,630
silpuerar Gewwtiul L sifleser 990

From the following information, calculate :

(a) Maximum stock levell

(b) Minimum stock level

(¢) Reorder level '

(d) Average stock level

Minimum consumption — 240 units per day

Maximum consumption — 420 units per day

Normal consumptiori — 300 units per day

-Reorder quantity — 3,600 units

Reorder period — 10 — 15 days

Normal re order period — 12 days.

Aeeupid saeudaafalmbg samsd@s :

(3N) 285 Sjera| Fr&HmHLLY

() GODLE ey &Sl

(@) O Y@ SeTey

(FF)  grned ersdmiiy semey
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